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Elementary Questions

1. Quality of population depends upon the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cJBzjiL4PC2j

A. Literacy rate (b) Health of a person

indicated by life expectancy (c) Skill

formation (d) All of these

B. Health of a person indicated by life

expectancy

C. Skill formation

D. All of these

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_cJBzjiL4PC2j
https://dl.doubtnut.com/l/_JhOEvTotVNAW

2. Population becomes human capital when

there is investment made in the form of

education, training and

A. Reading

B. Medical care

C. Eating

D. Socialising

Answer: b

o View Text Solution



https://dl.doubtnut.com/l/_JhOEvTotVNAW

3. Manufacturing is included in the

sector.

A. Non profit

B. Big

C. Initial

D. Secondary

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_anDlVFu4cLFx
https://dl.doubtnut.com/l/_DWBOeVi8oXSd

4. Economic activities have two parts—market

activities and

A. Same activities

B. Post activities

C. Profit activities

D. Non- market activities

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_DWBOeVi8oXSd

5. is the number of babies born there

for every 1,000 people during a particular

period of time.

A. Birth rate

B. Baby rate

C. Born rate

D. Big rate

Answer: a

o View Text Solution



https://dl.doubtnut.com/l/_4nnzLdDieBin

6. Death rate is the number of people per

who die during a particular period of

A. 10, 000

B. 1, 000

C. 100

D. 10

Answer: b

o View Text Solution



https://dl.doubtnut.com/l/_IKl6NdIJIzbC

7. Sarva Siksha Abhiyan is a significant step

towards providing elementary education to all

children in the age group of six years to

A. Fifteen years

B. Ten years

C. Nine years

D. Fourteen years

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_KlfMelHPYsJT

8. The literacy rates have increased from 18%
in 1951 to 65% in

A. 1971

B. 1991

C. 1981

D. 2001

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_9WFjvrMQgJiY
https://dl.doubtnut.com/l/_6lrJznw4TSjg

9. Trade, transport, communication, banking,

education, health, tourism, services, insurance

are included in the

A. Whole sector

B. Tertiary sector

C. Main sector

D. Last sector

Answer: b

o View Text Solution



https://dl.doubtnut.com/l/_6lrJznw4TSjg
https://dl.doubtnut.com/l/_RGgagiCumGvw

10. Non-market activities are production for

A. First-consumption

B. Main-consumption

C. Self-consumption

D. Non-consumption

Answer: C

° View Text Solution

Higher Order Thinking Questions



https://dl.doubtnut.com/l/_RGgagiCumGvw

1. Which of the following is a significant step
to wards providing basic education to the

children in the age group of 6-14 years?

A. Sarva Shiksha Abhiyan

B. Adult Education Programme

C. Mid-day meal

D. None of these

Answer: a

o View Text Solution



https://dl.doubtnut.com/l/_QmxLYjRvbdN4

2. Why is the literacy rate low in the females?

A. Lack of equal education opportunities

B. Lack of transport facilities

C. Lack of infrastructure

D. Lack of income

Answer: a

o View Text Solution



https://dl.doubtnut.com/l/_X6BANTcCKWqu

3. Choose the non-market activities:

(1) Vilas sells fish in the village market.

(i1) Vilas cooks food for his family.

(iii) Sakal works in a private firm.

(iv) Sakal looks after his younger brother and

sister.

A. (i) and (ii)

B. (iii) and (iv)

C. (i) and (iii)

D. (ii) and (iv)


https://dl.doubtnut.com/l/_akTpwQYXgqho

Answer: d

o View Text Solution

4. Which one from the following are the
primary sector activities?

(i) Forestry

(i) Poultry farming

(i) Animal husbandry

(iv) Manufacturing

A (3)


https://dl.doubtnut.com/l/_akTpwQYXgqho
https://dl.doubtnut.com/l/_H1ZajKN9uK7W

B. (%), (i1) and (%)
C. (41), (493) and (iv)

D. All of these

Answer: b

o View Text Solution

5. People as a resource refers to the

A. educational skills (b) productive skills (c)

health skills (d) none of the above


https://dl.doubtnut.com/l/_H1ZajKN9uK7W
https://dl.doubtnut.com/l/_aVpcVKfBD80G

B. productive skills

C. health skills

D. none of the above

Answer: b

o View Text Solution

6. Where is seasonal unemployment found?

A. Urban areas

B. Rural areas


https://dl.doubtnut.com/l/_aVpcVKfBD80G
https://dl.doubtnut.com/l/_3sGDxM841Z1g

C.In remote areas

D. Both in rural and urban areas

Answer: b

o View Text Solution

7. Disguised unemployment happened when

the number of persons working on a farm is

A. only what is required

B. more than required


https://dl.doubtnut.com/l/_3sGDxM841Z1g
https://dl.doubtnut.com/l/_9oO4qal5Ukhb

C. less than required

D. None of these

Answer: b

o View Text Solution

8. If a person cannot find jobs during some
months of the year, which type of employment

is this called?

A. Structural unemployment


https://dl.doubtnut.com/l/_9oO4qal5Ukhb
https://dl.doubtnut.com/l/_lUEtb7ExLPKy

B. Cyclical unemployment

C. Seasonal unemployment

D. None of these

Answer: c

o View Text Solution

9. Market activity is known as production for

A. exchange

B. earning income


https://dl.doubtnut.com/l/_lUEtb7ExLPKy
https://dl.doubtnut.com/l/_IEn0rYcbRrmj

C. earning profit

D. All of these

Answer: d

o View Text Solution

10. Increase in longevity of life is an indicator

of

A. good quality of life

B. improvement in health sector


https://dl.doubtnut.com/l/_IEn0rYcbRrmj
https://dl.doubtnut.com/l/_l2hSNbc8dluy

C. better HDI (Human Development Index)

D. All of these

Answer: a

o View Text Solution

11. Investment in human capital is expenditure

on

A. education

B. training


https://dl.doubtnut.com/l/_l2hSNbc8dluy
https://dl.doubtnut.com/l/_CIUKOp0jFpiq

C. medical care

D. All of these

Answer: d

o View Text Solution

12. The scheme for the establishment of
residential schools to impart education to

talented children from rural areas is

A. Kendriya Vidyalayas


https://dl.doubtnut.com/l/_CIUKOp0jFpiq
https://dl.doubtnut.com/l/_fskqmo8d7QZl

B. Navodaya Vidyalayas

C. Sarvodaya Vidyalayas

D. None of these

Answer: b

o View Text Solution

13. What is the aim of Sarva Siksha Abhiyan?

A.To provide elementary education to

women


https://dl.doubtnut.com/l/_fskqmo8d7QZl
https://dl.doubtnut.com/l/_EwqLd0VtFQcA

B. To provide elementary education to the

rural poor

C.To provide elementary education to all

children in the age group 6-14 years

D. To provide elementary education to the

urban poor

Answer: c

o View Text Solution



https://dl.doubtnut.com/l/_EwqLd0VtFQcA

14. Which one from the following is related to

the tertiary sector?

A. Agriculture

B. Forestry

C. Mining

D. Communication

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_nP4QALYU0aly
https://dl.doubtnut.com/l/_k7IHpQzOt9hH

15. Which one from the following is the most

labour absorbing sector?

A. Agriculture

B. Fisheries

C. Poultry farming

D. Mining

Answer: a

° View Text Solution



https://dl.doubtnut.com/l/_k7IHpQzOt9hH

16. Which one of the following is an economic

activity?

A. Work of Nurse at her home

B. Work of Doctor at their home

C. Work of Teacher in the school

D. None of these

Answer: c

o View Text Solution



https://dl.doubtnut.com/l/_3rfmJt5s6H1F
https://dl.doubtnut.com/l/_DM0ENhm65h4Q

17. Which one of the following is considered

important to create a 'virtuous cycle' by the

parents?

A. To send their children to the school

B. To provide good food to their children

C. To enrol children in corporate schools

D. To take care of the health and education

of their children

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_DM0ENhm65h4Q

18. Decrease in IMR (Infant Mortality Rate) of a

country signifies

A. increase in life expectancy

B. increase in GNP

C. economic development of a country

D.increase in number of colleges in a

country

Answer: a



https://dl.doubtnut.com/l/_DM0ENhm65h4Q
https://dl.doubtnut.com/l/_5edSetqIGaDW

L ' View Text Solution

19. Self-consumption is

A. non-production activity

B. non-market activity

C. non-economic activity

D. none of the above

Answer: b

o View Text Solution



https://dl.doubtnut.com/l/_5edSetqIGaDW
https://dl.doubtnut.com/l/_1ZhV28XZjznt
https://dl.doubtnut.com/l/_YNSwpFGmqvPK

20. One who can read and write in a language

with understanding is termed as

A. student

B. adult

C. child

D. literate

Answer: d

o View Text Solution



https://dl.doubtnut.com/l/_YNSwpFGmqvPK

